

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

ORDER #002052

Platinum Events MIA (323) 850-6217 KRYSTAL (818) 744-6129

Order Date: March 1, 2022 Due Date: Upon Receipt

PO: Shipping Address: SOFI STADIUM 1001 STADIUM DRIVE INGLEWOOD, CA 90301

EVENT DATE IS THURSDAY, MARCH 24TH, 2022

DELIVER & INSTALL THURSDAY *ARRIVAL IS 4:00 AM* *ENTER AT 5:00 AM*

EVENT MUST BE SET AT 5:00 PM

* PICK UP SAME NIGHT AT - TIME TBD*

4			
4			
	\$450.00	Т	\$1,800.00
2	\$250.00	Т	\$500.00
	Total ENTRYV	VAY	\$2,300.00
1	\$150.00	Т	\$150.00
1	\$1,500.00	Т	\$1,500.00
3	\$750.00	Т	\$2,250.00
2	\$45.00	Т	\$90.00
1	\$2,350.00	Т	\$2,350.00
6	\$110.00	Т	\$660.00
6	\$22.00	Т	\$132.00
2	\$350.00	Т	\$700.00
12	\$27.00	Т	\$324.00
	1 1 3 2 1 6 6 6 2	Total ENTRYV 1 \$150.00 1 \$1,500.00 3 \$750.00 2 \$45.00 1 \$2,350.00 6 \$110.00 6 \$22.00 2 \$350.00	Total ENTRYWAY 1 \$150.00 T 1 \$1,500.00 T 3 \$750.00 T 2 \$45.00 T 1 \$2,350.00 T 6 \$110.00 T 2 \$350.00 T

Description		Qtty	Price		Total
	Olivia Bar Stool, Gold	1	\$27.50	Т	\$27.50
	WHITE FUR & GOLD BENCH (4FT)	2	\$75.00	Т	\$150.00
		Тс	otal CHASE LOUN	IGE	\$8,333.50
OUTSIDE AREA					
	Wired High Boy, Gold	10	\$110.00	Т	\$1,100.00
	Wired Barstool, Gold	20	\$27.50	Т	\$550.00
	Tufted Dj Booth, 6ft White	2	\$150.00	Т	\$300.00
	CUSTOM PLEXIGLASS & DECAL (FOR NEIGHBOORHOOD BAR) 47 1/4" WIDTH X 31" HEIGHT	1	\$150.00	Т	\$150.00
	LOUNGE AREAS 6-WHITE SOFAS/5-6 AVA ARMCHAIRS/18-WHITE ROUND OTTOMANS/6-RECTANGLE GOLD COFFEE TABLES/12-GOLD SQ. END TABLES	6	\$750.00	Т	\$4,500.00
	WHITE 8FT BARS *SEE PICTURE*	3	\$250.00	Т	\$750.00
	CUSTOME DECAL WRAP FOR BARS (MARBLE STYLE) BAR NEEDS TO BE WRAPPED ALL THE AROUNDON ALL 3 SIDES +TOP	3	\$175.00	Т	\$525.00
	Ariel Shelf, Gold	6	\$175.00	Т	\$1,050.00
	LAVA HEATERS	20	\$110.00	Т	\$2,200.00
	PROPANE	20	\$22.00	Т	\$440.00
		7	Total OUTSIDE AF	REA	\$11,565.00
PRO SHOP					
	CUSTOM CLEAR PLEXIGLASS SIGN WITH DECAL ARTWORK (TO COVER PROSHOP) 98" INCHES WIDTH X 25.5" HEIGHT	1	\$150.00	Т	\$150.00
	CUSTOME DECALS FOR STORE FRONT	1	\$1,400.00	Т	\$1,400.00
			Total PRO SH	IOP	\$1,550.00
PHOTO AREA					
	Sofia Crystal Communal Table For Portraits	1	\$175.00	Т	\$175.00
	Victoria Mirror, Large	2	\$350.00	Т	\$700.00
	Ava Arm Chair (WHITE)	1	\$125.00	Т	\$125.00

Description		Qtty	Price		Total
	ROUND DESSERT COLUMBS SETS (WRAPPED IN GOLD) EACH SET IS 3 PIECES 2-LARGE/2-MEDIUM/2-SMALL	2	\$75.00	Т	\$150.00
			Total PHOTO AF	REA	\$1,150.00
STEP & REPEA	AT AREA				
	COAT CHECK	2	\$150.00	Т	\$300.0
		Total S	TEP & REPEAT AF	REA	\$300.00
HEDGING					
	HEDGE PANELS, 8FT X 4FT TO BLOCK OF LEFT AND RIDE SIDE OF EVENT SPACE // 10 FOR RIGHT SIDE, 12 FOR LEFT SIDE	22	\$150.00	Т	\$3,300.0
	HEDGE PANELS 8FT X 4FT FOR CHASE LOUNGE NEAR CONCESSION SIDE (WITH 1 TO TURN)	15	\$150.00	Т	\$2,250.0
	HEDGE PANELS 8FT X 4FT FOR CHASE LOUNGE SIDE 1 (WITH 1 TO TURN)	15	\$150.00	Т	\$2,250.00
	HEDGE PANELS 8FT X 4FT FOR SHOP (ALL AROUND)	22	\$150.00	Т	\$3,300.00
	CUSTOM HEDGE PANELS (FOR COVERAGE) MATERIAL COST \$3500/ LABOR COST \$2500	1	\$5,500.00	Т	\$5,500.0
			Total HEDG	ING	\$16,600.0
MISC					
	School Boy Table, 8ft	5	\$10.00	Т	\$50.00
	Linen, Black 8ft - Polyester	5	\$22.00	Т	\$110.00
A	Ghost Dining Chair, Clear	4	\$8.50	Т	\$34.00
	Banquet Table, 8ft 2-FOR COVID COMPLIANCE 2-DJ	4	\$8.00	Т	\$32.00
	Lamoure Linens 8FT (WHITE) 2-COVID / 2-DJ	4	\$28.00	Т	\$112.00
	GOLD STANCHIONS	6	\$17.50	Т	\$105.0
	Velvet Rope Black Velvet	6	\$8.50	Т	\$51.00
			Total M	ISC	\$494.00
Services					
	TRUCKING FEE EVENT INSTALLATION FEE (OT + DOT))	4	\$275.00		\$1,100.00 \$5,850.00

Description		Qtty	Price	Total
	EVENT BREAKDOWN FEE (INCLUDES SAME NIGHT PICK UP FEE	15	\$275.00	\$4,125.00
	STAND BY TEAM (5:00 PM - 1:00 AM)	2	\$350.00	\$700.00

Notes

Total Products:	\$42,292.50
Total Labor/Services/Misc:	\$11,775.00
Taxes :	\$4,017.79
Discounts:	(\$0.00)
Total:	\$58,085.29
Payments:	(\$0.00)
Balance:	\$58,085.29